
VIDYA BHAWAN BALIKA VIDYA PITH  

  CLASS-   5                                DATE – 26 .05. 21 

  SUB -MATHS                            S. T -  PRAGYA  

           BASED ON N.C.E.R.T PATTERN  

                                  CH- 5 

    Mathematical  Operation  on Large Numbers  

                               WORD  PROBLEMS  

See example carefully  : 

 Example  :    1. The population of a town in 2010 

Was 24 , 51 , 664 . It increased by 8, 90 , 242 in  

2014 . Find the population of the town in 2014 . 

 SOLUTION    .The population of a town in  

2010   =      24 , 51  , 664 

Increased in 2014  =   8, 90 , 242 

Thus , The population of the town is 2014  

                 =  24 , 51 , 664 

              +         8, 90 , 242 

           ---------------------------- 

                    33     4 1    9  0 6 



                                   PRACTICE – SHEET        

  Solve these questions according to example  

                              ******* 

  


